GEAR BOX BuiLD

TeacherGeek...

PAGE 1

,—QPIARTISlREQUII RE D-\

Two Hole Plates

Five 12in (300mm) Dowels

One 10, 20, 40 and 50 Tooth Gear
Two Stop Clips

One #10 Washer

(—GT|O|O| I;SI R-EQ-IU|I RE D-\ N

N
Cutters: Multicutters,
pruning shears or a saw \
- \ ':N\
Phillips A Pliers or a
Screwdriver wrench to grip
#10 square Nuts
\ J
J

Create the frame by cutting
and inserting 4in (100mm)

dowels into hole plate
corners.

Tip: Make a mark on
this dowel. It will be
used as a reference.

4in (100mm)

® No Reaming.

K—EZERE'AI' MI : ITlHl ElF'R'A s ‘Ei

Ream the holes in the frame in which
dowels will need to spin freely.

Only Ream the holes
shown with a

9 Holes

A

6 Holes




TeacherGeek...
PAGE 2
N

Stop Clip

#10 Washer
Reference
Mark

20 Tooth Gear

Stop Clip

5in (125mm)

50 Tooth Gear

) 2) 2) &) >

)

50 Tooth Gear

7.5in (180mm

Front View

GEAR BOX BuiLD

Rear View

Do not ream
the Gear Holes

Caution

GEAR IT.

10 Tooth Gear

3

Create a gear transmission as shown




™

TeacherGeek...

GEAR BOX BuiLD

PAGE 3

)

OPTIONAL DRIVE SHAFT BRACE

4

x
U
L=t
@
—_
s
=
e
©
c
@

o
o]
a

This optional (not included)

with reamed hole.

brace can keep the drive
shaft from flexing.

) ) 2N \' " X 4 4 ’4 { )
NNNNNN 1@ /ai

QRS 4%»1';'
AR08
OV MNRN NN
VLDVVHHOW/G
QAVIANDIVNV/Y
O\ DAIVINVINY
\Q Q TNMMN
QSQVY
SMMNN
DN
MM
WM N

|

D\
¢ MM
NN

#10 Nuts
and Washers

.

The Gear Box is done

0000000

J0000000 N
0000000 N
. ¢
S \\Aw\uan &

h

Now that you know how a gear box goes togethe
you can experiment and create your own design

to best fit your turbine.

al 000000000

000000000

0000000000
LNOCO0

0000000000
0000000000
NORNOV0000
00K 00000
:T/f'r?:\
0000000000
0000000000
0000000000
NNORQOOO00
/) \A“w\ 1)),
:Tﬂ\,@::
NOO0V00000
0000000000
0000000000




